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CARTESIAN CO-ORDINATE
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CARTESIAN AND POLAR CO-ORDINATE
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POLL QUESTION-01

,\(’
1=
If (2%) is the polar co-ordinate of a point, what's the Cartesian co-ordinate ?
(a) (1,1)
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MATHEMATICAL PROBLEMS - N
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ﬁEExampIe : Express this equation in ystem: x2+y2—ay=0
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DISTANCE BETWEEN TWO POINTS
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POLL QUESTION-02

Find the distance between the points (4,3) and (—2,5).
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MATHEMATICAL PROBLEMS

> Find the co-ordinate of a point of which, the ordinate is twice of the abscissa and which

maintain /10 unit distance from the point (4,3). ('L ?—79
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MATHEMATICAL PROBLEMS

> Show that, A(1,2), B(—4,2) and C(—4,7) form an isoscelesh'ight triangle; determine the

~ area of the triangle.
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MATHEMATICAL PROBLEMS —_—

> Show that,, A(1,1), B(—4,13), C(8,8) and D(13,—4) form a!_rhombus_j Z
AB= (Ut D)+ (1-19) = {ehr-13 4 g
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ACTIVITY
(|) Show that, (4,—1), (2,1) and (1,2) are collinear points.

(ii). The radius of a circle is 10 unit and its’ centre is (11,2). If the bisecting point of particular

bhord of here is (2,—1), then what’s the length of that chord?

é(iii). (a,5) is equidistant from Y axis and the point (7,2). What's the value of a?
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SECTION FORMULA: INTERNAL DIVISION OF LINE

Q(x3,¥2) PQ \.(hf, ;S ;n+€YY\9~[[‘} d,lwclecl
R(x,y)' r'TQ‘ﬂ. , \:D XN % (JQ,VJC’ , Y'QJHO " n

P(x1,¥1) ) '_'S(-x,‘jl) - PR — @
Q&

P PR\ = m

—
—

U :%Em ']Z—r KQ K 14 Higher Math

Chapter 3 : Straight Lines




XXk 4
N NY = ™ W, T M

N = MR, T

Cm_\,-n) ‘)/(_ = MNU L—‘_ Y\"L_l

/ Y = \‘rx-,,—l-Y\Lj )
Y +nN

—




POLL QUESTION-03

5 2 % T
- What'’s the point at which the line segment joining (2,0) and (7,5) is internally divided in 2: 3
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SECTION FORMULA: EXTERNAL DIVISION OF LINE
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POLL QUESTION-04
21173

What’s the point at which the line segment joining (3,4) and (5,9) is externally divided in

2: 3 ratio? Mt — MY,
W= —
(a) (8,10) VT — N
b) (5,4
(-1,-6) xr= - =T
’ 2 -7 —1
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% () MATHEMATICAL PROBLEMS - K
minE STy ] " K= A

<
» What's th@which the line segment joining(1,2) and (6 7) is internally divided at
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MATHEMATICAL PROBLEMS

> What’s the ratio in which the line segment joining (—2,3) and (4, —7) is divided by‘)s_& y

| X axis @ R ?o’mk ir\*ewmlb PQZ,’S)T(O k@&.,@
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THE CENTROID OF A TRIANGLE
PR =TV,

60 - _ -
=4 LA

BQ 'S e Y\&kb CA'(\Ile_J q]( r;o; Y\*_
Dk vk 1 [Mid  pord

I

j.i;_“\' 1.%s _{.y;_\.j,jj
( 1+ . 1+ >
e 7/1 ), (y—“: ‘:1,_4-‘13)
. \\ A‘.\)‘M\QA @ =
| AD L evve J Q__(’(L_'_Z___xq’) +1. Ay +y
) aJ\ = 2. = _ :Jl-\-‘:f" 3
G\ wet, Tos 1 T o +1 }j - 3
5 , L Higher Math
i.’ ﬂm | = = ) ChapterB:Str;agiJgﬁ{ Lir?es



POLL QUESTION-05

If two of the three vertices of a triangle are (2,7), (6,1) and the centroid is @_Q what’s the

" — S

third vertex?
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(a) (8,10)

}rf (10,4)
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ACTIVITY

é(i). ABCD is a square and three of its’ vertices are A(8,8), B(9,—5) and C(—4, —6); Find
the co-ordinate of D and the area of the square.

kii). ABCD is a rectangle and three of its’ vertices are A(3,2), B(2,—1) and C(8, —3);
Find the co-ordinate of D and the area of the rectangle.

{iii). What are the intersecting points of x & y axis with the line segment connecting
(2,—4) and (—3,6) .

Kiv). If the origin point be the middle point of the line segment connecting (x, y) and
(r cosB,r sind), prove that x* + y* = r?
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